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Test-I: Reasoning
Directions ). 1-2): Study the following information

und nswer the questhons given below,

| B

(i} Aradhesa building heving 3 floors (ground floor +
Z floors) i facimg East. Each floor hes 3 flats with
o o ihe cenire facig East,

(i} Outofflats A, B, C, 0L E, F, G Hand [{not i the
same onder}, flats G and F are the adjacent pair of
iats of flat B which is o the second floor and exactly
above E,

(i} Flat *I" facing East & not an the ground floor and
does not have "D’ and *H' as adjacent pair of flats.

Which flat i just to the righe of flat 17

e WA 3)Either Cor A

4) Dieta inndiequate 51 Mone af these

Wbz flat sl bee al e befh o Mt E on the grosnd oo

IiEither DowH 2} Dhanly 1) H oaly

41 A caly 5} Nome of these

Ir'-.[ ¥ mlmlrafm.‘l:_lmtxr‘.*l

mcEns ', then

Y30 +25x5-3=7

163 21 4]

41015 §} Mone of these

177 i peesaibibe to madke & mesaningful wond with the third,

the sivsh, the seventh and the tenth letters of the wond

STETHOPHONE write first letter of that word as the

arseer. [ 0o sch word can be made, give ‘X as the

angwer, if more tan ane word can be made; give ‘M i

the nrdwer
1M HX no
4P 5N

In® group of five friends A, B, C, D and E, “B" ts yousger
80 °C" bt ehder 10 "A”; 1Py are aranged in sscending
order of age, then ‘D) gets fifth sank, who is the youngest
aage’

8 A " 1) Esber EorC

4] Only C S} Mone of these

Four althe following frve are alsioe in 2 cerads way and
50 form & groep. Which is the one that does ot belong

o thai group?
| Sweet 11Cold 1) 3o
4} Bame 5) Salty

In 2 cerisin code language “dim phu ie” means “He I&es
encke”, “son " means “good food™. How “good cricket”

will b written in that fangusge?
1} son te Thdimri 3) san phu

4) Diala inadequate §) Woag of these
IF*A = B’ means*A is brather of B, "A - B® means A is
fader of B, "4+ B means ' B is sisicrof A'asd ‘A2 B’
mepns ‘A 5 grandfasher of B', which of the fallowing
mans ‘L is nicce of M7

UM=P-N  DIM=P-N3L HLAN-P+M
MAN-L %) None of these

Bus foor Chilodi village & afler every hour from T 30 am
t0 12,30 pm bt after thet it is afber every one and half
Biours gap. Dee bus has gone half an hour aga, Vikas was
#old by o depof clerk ol 8,30 pm, When was the sexi bus
schedubed?

1}&pm 217 pm 3)730pm

4) Data inadequate 5) None of these
“In & class of 50 shudents. one-fifih play crickel gsd
backey, only |0 stodents pley both kockey and mhble
tenmis, 50 per cent play onty cricket”, 17 this stalemen is
troe, then which of the followisg is definitely inae i the
context of the above stetement?

1) 10 students play only table tennis

2) Only 25 students can play wicket

3 30 per cent of the studesss do not phay any game
4) 70 per cent of the students can play mane San one

game
5) 35 students can play cricket

- What will come in place of the question mark (1) in the

filkrmwing lemer-vamber sries?
DG VMIT TRIY

1} R515 YN

4pXI1S §) Nane of these
[f the days of the week are replaced by cvery altersale
Jesser ol the English alphsbet, with Wednesday replaced
by E, Thursdary by G ind so on, then ifth day beginning
from Friday will be shown by which of the fallowing §

NGR2

IE 2l 30
4R §) Nome of these
In a certain code PERSONIFICATION i writtep as

FSREIONNACIOITE. How is REINCORPORATION
written in that code?

I/ NMIEROCRARCOITP

HINIEROCHARDOETR

) NROCNIEPOTTARDR

41 PAROROITROCNIER e

5} Nome of these
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If the secand Ball of tke leners of the word
TIRANSPORTATIONAL are reversed and placed hefore
firss half of the letwers, which beiter vwill be the thind o the

right of the thirieents ketber from i right?
e il | oL
A 5) Mo of these

iy m glass of shadents, Sairam s rnk is 23rd firom woap in
Fpdathematics, whereas his rank is Z7th from below in
Physics. How gany stdents ane there in e class?
350 294 148

4] Dat wadeguate §) Nome of these
in 0 cergin code REFDIM is written as QIPKFS. How
wiuld SCRIPT be written in thad code”

1HLNHSOT JPSOHORR 3 TSI

T Agpe ] 5) Wone of these

Iirectinas (3. 17-20) Sudy the Gllowing imformatien

and wnswer the questions given helom,

A swimiming coach has 1o select some ssudents cutof 26

sudenits. He gave them randos numbers from 2 b 7 afier
arrangig them in & row a3 shown bekow:

ARCDEFOHI JELMNQPQRETUYWEYZ
AXTEIAASEGITTIGISTAMG2435]

17

I siudents having 5 or 7 masier bt are flanked by sven
numbered students are ba be chasen, which of the
following will be the answer?

118, F M

ALK 45 Mone of hese
IT staderns having gven number bt have odd sumber-
hearisg siudents on bt ssdes ane o be chosen, haw

nY.Q

- inminy shadents will be choses
1 Twe 2} Three
31 Four 4} Mloee than Foa
5} Wi of these

| 1F shome studests whe are having cven number bul have

student hearing odd number ahead and are Gallowed by
eyer numbered students ane (0 be chosen, which af the
fisliarwing represests that group of studens?

[VBFK 2)FIS ) WEK

A PG 5) Mo of thess

. I w group of 1 stedents, wh are adjacent 1 each other

wid v bear oodd mambers ey ape i be formed, then
how many groups which da not have commen sludests
weill b Formed?
1) Five
1) T

1) Pt
5) hane of these

3 Three

Directhons |, 2123 Study the Eollowing beter-sumber
rramgement end saswer the questions given below.

SORSTDABACEUMLWISGFIHINKE
[F'1he last fiSeen letiers numbers are weitten in the reverse
crder, which of the fallowing will be the sixth to the left
of sevemeenih letter from left? ) .
W K o nu

M ) Mome of these |

Which ofthe follmwing will eome in place ol the guestion
miark (71 in the following sequencs”
TH2, D&G 4T 7

IAnC « 2):SRL Hadk

Ly WME 31 Mane ol tese

Whith of the following wall Be e foursh sa the right al
the fifkeenth lether mumber from beft?

1K IE

4 4F

) Wanz of these

. Sudhir was Tading West, he tursed o his rght by 437

and walkoed | 3 pretres thes took a vam of 1307 and walked
40 mearcs, which direction will he be facing o from the

ariginal point

1) North-West + ) North-East
3) South-West 4) South-Tast
%) Wome of these

. Four of the foliowasg five are alficz in & certain wiry and

# form a groap. Which is fhe ane that docs not belong

ta thal group?

1} D liberms 1) DHscuss
3y Setile 44 Argue
p Debaie

[Hrections (). 2640} There are two sets of

Oine set |s called Problem Figures wiiife the siber sed i
called Answer Figures. Problem sef figures form some kind
ol series. You have to select oo figure from the Asswer 5ot
figures which will comfinue fhe same series &5 given in

Frotlem sei lgores.
X Prabiems Figure
X *|C 3|5 =x 00 T
g 8
T B4
o O
T
.
[ K
&
w

I
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n o~ Probilem Figures ' _ Amswer Figures
. gl = 0 aT|AX =s=50O0=A0|C 50O|=
Al O |= AXIOT ¢ olC olfc oja o|C ©
olOA X A O==x% TAHAT [T E#SI=TOjA*
Answer Figures I 1) i 4 5
{TO OT|# 35 "o O ® Probiem Figures -
¥ A=} O=* OO0k & =% OO "
PO*0 AxTAATOX|T &% @ @
T 2 T o @ % @ @
L Prodiless Figures Amswer Figures
0 oo koo [C W Lo [@_ [0
8 X —
D0 Xi= i @ @ @ @ @
Asswer Figares l R i
T X|C=X|=X =x| *— * Probiem Figures
0 o O 0 % |= 0|0 Y[T oo *
a0l AOl SaAlcaglag a8 | =|C |0
b ) ) ) ) C 5= o olx oOT X
3 Problem Fgures .lmHFtl_rEl
TR LT ALt ettt rtette] [« T|x T[T 9T S* T|
§ 0| a =10 ® X * X %
¢t o= Ctlo =lA P Al Io oo 0Ol aAlx #o §
MFW I ¥ L] 4) k1]
T T T e (TN Y Pratien Y
A | * o Al % 5§ =x C|C ¥t ojo 1
Plo PO PO T P
i 3 ] ] 5 C T [« (Al gja_F
M ___ Problom Figarss i Answer Figures
=lA0D AXOXA= |t # g[F ArNE]
o = A= 5
0 8=|8 oo P 48 O= % = 0
Answer Figures “ b 5 4 5
5 5l0 O]. O8] XClO X| * Problem Figures
o =lx §lo =lo Ao C X AOX<eNe0 e NP {
#x Alxa=|ICxXADS =[S =4
I 2 3 i ] o=aoo={000{C00S C 0
kil Problem Figures Amswer Figures
5 =iC = AJAC O FN~JPHN «|PN=—[PN=|FHN=~
(8] = A = 8
=] soalops| S QT O a5 ClesCl=5ClpSClASC

E

4
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” Problem Figures 4L Problem Figures .
o loa losx %@ @ 9
O jox Jo% x[& x&AQDQ o B
Answer Figures Answer Flgures
o o Alo * ;
gCxoTOCO XADOX|0F A %@%@%
A8 O S5 Al%S Ol 5 Ojas
T 2 3) 4 5 1} %) 1] #) 5
k] Prahlem Figures 4% Probles Figures
IR P IKIBR | || &
7| | ] R [P 3| !
Anzwier Flgares Amswer Figures
54 | N7 ¥
K| D DX | DK | DX |9 |21 (3] |
I 2 1) 4) ] L] 7 3) 1) 3
n Probiems Figures ﬂ_ Prablem Figures
TOoOxO=OCT|S =X|C TO| G N = 9
c eolo Tolox=[coT|asx N = 2
. Mﬂ-lrn!um Answer Figures
S AXAX SlAS X|AX S5|C X5 k] IH) 4 It | i
CoTlT#olTocClTCOlann A A AL NI
1} bl B 4_|| 5 I} )| i | 4 1]
0 Prohlem Figures o, Problem Figures
T [TO [oxXT] % [#0 X FEf=+0 FX0
TOX 'Eﬂ A A ?
—» -
Answer Figures Answer Figares

X TOOXTOXTIOXT|TOX A IOY |[OA |OY
-l- * + X
3 4 L]

Problem Figures

I Kl k[ 4 1]
Directions (), 41-45): The second figure in the frst
"unit of the probhem figures bears o certain refationship o
the first figure. Similarly one of the figwres in the answer
figwres bears the same relationship to (e first fgure in the
secend anit of the problem figures, You are therefore to
fscair the figure which would fit the qeestion mark.

OCwZosl0OMTR0|0# g E 5[0« 5lc = 2|0 =+ 5|0 = g

Gl At
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Directions (Q. 46-50): Out of the given I‘hr: figures,
folar are similar in a certain way, One figure is not like the

other four. That means four figures form a group. The
question is which one of the figures does not belong to this
vl
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ANSWER
1 (3) 26 (2)
2 (1) 27 (3)
3 (3) 28 (5)
4 (1) 29 (5)
5 (5) 30 (2)
6 (2) 31 (3)
7 (4) 32 (2)
8 (2) 33 (5)
9 (5) 34 (2)
10 (5) 35 (4)
11 (4) 36 (5)
12 (5) 37 (1)
13 (5) 38 (3)
14 (5) 39 (2)
15 (4) 40 (3)
16 (1) a1 (1)
17 (5) 42 (2)
18 (1) a3 (5)
19 (2) a4 (4)
20 (3) a5 (1)
21 (5) 46 (3)
22 (1) 47 (2)
23 (4) 48 (1)
24 (4) 49 (5)
25 (1) 50 (4)




